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Candidates are required to give their answers in their own words as far as
practicable,

Hlustrate the answers wherever necessary.

Group A
1. Answer any two of the following guestions 2x2
a) What is knife-edge problem in Harrod Domar model of groth,
b) What the basic difference between Kaldor and Pasinetti in respect of
distribution of income?
¢) What are the important features of leaden age?
d) What is golden age equilibrium?

2. Answer any two of the following questions 42
a) lllustrate the labour augmenting technical progress.
by State and interpret the inada conditions
¢) Estimate the share of profit and wage following Kaldor.
d) Illustrate the concept of absolute convergence.



3. Answer any eine of the following guestions Sxi
a) Derive the fundamental equation of Solow growth model and briefly
explain the steady state situation in this model. (3+3)
b)  Explain the Robinson’s growth model from income and expenditure point
of views. Interpret the equilibrium condition of this model. (6 +2)

Group B
4o Adnswer amy hwo gquestions X2
a) Calculate the growth rate of real per capita income for the year 2022 if the
nominal aggregate income for 2021 and 2022 are respectively Rs. 10000
and Rs. 11000, rate of increase in general price level is 5 % per annum.
and population growth rate is 2%e per annum.
by What are the differences between o Cobb-Douglas production tunction and
an AK type production function in terms ol retirns 1o capital and returns to
seulet?
¢) Inwhat way the endogenous growth theory is an improvement over the
neectassical growth theory? Explain bricfly.
dy O Write down the expression of houscholds' total budget constraints in the
Ramsey moedel. Derive the households” budget constraint in per capita

lerms, =1

3. dnswer any two guestions 4x2

a) baplain the Solow Growth Accaunting System using a generat production
function incorporating two inputs. labour and capital, and an exogenous
reehnological progress term o with 12 and 172 as the respective shares ol
labour pay ment and capital payment.

by Driscuss how the introduction of human eapital into the production activit
makes a perpetual positive growth rate of income,

¢ Define Conservation Capital. Mention two  advantages of  producing
consernvation capital. 2=

d) Brietly explain how research and development helps in generating positive
growth of per capita income and consumption in the Romer model.



6. Answer any one question 8x1
a) Explain how the growth of per capite consumption and income are derived in
the Barro model in a centralised tramework.

b) Bxplain how the positive growth of income is possible under the AK modei.
[Joes there exist transitional dynamics in the model? 62



